Bridgeclub Lier *** ClubTornooi *** 4 giften per ronde *** 20/06/2023 NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OW gift 4 NZ OwW
1 Smets Eric-Van Linden Marina 2 De Meyer Theo-Guwy Freddy 1 2 3 3 —-450 O4H+1 1 5 -170 W2S+2 1 5 -50 N4s-1 2 4 -660 O3N+2
3 Van Waeyenberghe Wi-Daniels Guy 4 Van Uffelen Marc-Jeunen Carine Bye
5 Van den Eynde Dries-Mistiaen Dierik 6 Hens Jan-Van Velthoven Walte
5 3 3 3 —-450 O4H+1 5 1 -140 03s= 4 2 420 N4s= 2 4 -660 O3N+2
7 Laeremans Ilse-Janssens Geert 8 Quidousse Stefaan-Mertens Monique
8 6 3 3 —-450 O4H+1 5 1 -140 03s= 1 5 -50 N4s-1 2 4 -660 W3N+2
9 De Maeyer Connie-Busschops Annik 10 Bye
9 7 3 3 —-450 O4H+1 1 5 -170 W3S+1 6 0 450 N4S+1 6 0 -180 OIN+3
NZ OW |gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW NZ OW |gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW
Bye 1 8 6 0 110 Zz2H= 2 4 200 N2H+3 4 2 450 Z4s+1 3 3 -430 W3N+1
3 4 1 5 660 N3N+2 5 1 200 W3N-2 2 4 100 02s-1 2 4 150 Z2N+1 Bye
5 7 4 2 680 N4H+2 5 1 200 O3N-2 4 2 120 zZ1N+1 0 6 130 N3K+1 5 6 2 4 -50 Z3K-1 6 0 620 N4H= 6 0 500 O5S5K!-3| O 6 —460 O3N+2
8 2 1 5 660 N3N+2 0 6 —620 045= 6 0 200 03s-2 5 1 400 N3N= 702 2 4 -50 Z3s-1 2 4 200 Z3H+2 0 6 -50 N4H-1 6 0 -400 O3N=
9 6 6 0 1430 Ze6H= 2 4 -170 W3S+1 0 6 -90 O2K= 5 1 400 Z3N= 9 4 2 4 -50 NIN-1 2 4 200 N3H+2 2 4 420 z4s= 3 3 -430 O3N+1
NZ OW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW |gift 17 NZ OW gift 18 NzZ OW gift 19 NZ OW gift 20 Nz OW
1 3 1 5 -620 O4H= 2 4 -130 W4K= 2 4 110 Z3K= 6 0 110 Z3R= 1 7 4 2 =50 N2H-1 3 3 600 N3N= 0 6 —-650 W4S+1 4 2 =170 W3s+1
5 4 1 5 -620 O4H= 5 1 130 Z3R+1 2 4 110 Z3K= 4 2 90 NIN= 4 8 1 5 -90 O2R= 6 0 630 Z3N+1 6 0 -50 NIN-1 0 6 -600 W3N=
Bye 5 2 6 0 50 O4R-1 0 6 -100 N3N-1 4 2 -120 OLN+1 2 4 -200 Z2K-2
7 8 4 2 100 O5H-1 5 1 130 Z3R+1 2 4 110 Z3K= 2 4 -50 z3s-1 6 3 1 5 -90 OIN= 3 3 600 z3N= 2 4 —-620 wW4s= 6 0 110 Z2H=
9 2 6 0 730 zZ3s!= 0 6 -420 0O4H= 6 0 130 Z2K+2 0 6 -100 N2K-2 Bye
NZ OW |gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW |gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NzZ OW
1 6 2 4 50 WIN-1 0 6 -690 O3N+3 6 0 1100 O7R!-4 2 4 -50 Z4R-1 1 4 4 2 -660 W3N+2 4 2 -140 W3s= 0 6 —-150 N3H-3 3 3 -120 OIN+1
2 3 2 4 50 OIN-1 2 4 -120 W2N= 4 2 100 06S-1 2 4 -50 Z4R-1 2 6 4 2 -660 O3N+2 4 2 -140 w2s+1 6 0 -50 N3H-1 3 3 -120 WIN+1
4 7 6 0 100 O2R-2 6 0 300 w4H-3 0 6 —620 04S= 6 0 110 Z3R= 5 8 4 2 -660 W3N+2 4 2 -140 W3s= 3 3 -110 W3R= 3 3 -120 WIN+1
Bye 9 3 0 6 —680 04S+2 0 6 -170 W2S+2 3 3 -110 W3R= 3 3 -120 WIN+1
9 8 2 4 50 O2R-1 4 2 -110 wWz2s= 2 4 -200 z5H-2 2 4 -50 N4R-1 Bye




